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Class – 10th (SAT) 

Scholastic Aptitude Test 

   Questions : 100  Max. Marks : 100                                       Time : 2 Hours 

1. Headquarter of UNESCO is at ? 

(1) Geneva   

(2) Rome 

(3) Paris   

(4) London 

  
1. ;wusLdks dk eq[;ky; dgk¡ ij gS  \ 

(1) ftusok  

(2)  jkse 

(3) isfjl  

(4)  yUnu 

2. How many valence electrons are 

present in Cl 
–
 ion ? 

(1) 5  

(2) 6 

(3) 7  

(4) 8 

  
2. Cl 

– vk;u esa fdrus la;kstdrk bysDVªkWu gSa \ 

  

(1) 5  

(2) 6 

(3) 7  

(4) 8 

3. Blood cells are manufactured in 

our : 

(1) Bone marrow  

(2) Liver 

(3) Spleen   

(4) Pancreas 

  
3. gekjh jDr dksf’kdkvksa dk fuekZ.k fuEu esa 

gksrk gS % 

(1) vfLFk eTtk  

(2)  ;d`r 

(3) Iyhgk ¼frYyh½  

(4)  vXU;k’k; 
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4. If  +θ=θ−θ= 64 sin,)cos(sin ba  

θ6cos  and ,)cos(sin 2θ+θ=c then 

the value of cba 643 ++  lies 

between : 

(1) 2 and 3  

(2) 3 and 4 

(3) 4 and 5  

(4) 5 and 6 

  
4. ;fn  +θ=θ−θ= 64 sin,)cos(sin ba  

θ6cos  vkSj 2)cos(sin θ+θ=c gS] rks 

cba 643 ++  dk eku fuEu ds chp   

gS % 

(1) 2 vkSj 3  

(2) 3 vkSj 4 

(3) 4 vkSj 5  

(4) 5 vkSj 6 

5. Which of the following statements 

are correct in relation to liberal 

Nationalism in 19th C. Europe ? 

I Freedom for the individual 

and equality of all before the 

law. 

II Government by concent of all. 

III End of autocracy and the

 privileges of clergy. 

IV Equal political rights for 

women and non - propertied 

men. 

(1) I, II, IV  

(2) I, II, III 

(3) II, III, IV  

(4) I, III, IV 

  
5. 19oha 'krkCnh ds ;wjksi esa mnkj jk"Vªokn ds 

lanHkZ esa dkSu ls dFku lghlghlghlgh gSa \ 
 

I O;fDr ds fy, vktknh vkSj dkuwu ds 
 le{k lcdh cjkcjhA 
 

II lcdh lgefr ls cuh ljdkjA 

III fujadq’k 'kkld vkSj iknjhoxZ ds    
 fo’ks"kkf/kdkjksa dh lekfIrA 

IV efgykvksa o laifÙkfoghu iq#"kksa dks 
leku jktuhfrd vf/kdkjA 
 

(1) I, II, IV  

(2) I, II, III 

(3) II, III, IV  

(4) I, III, IV 
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6. Maintaining the proper amount of 

water and proper ionic balance in 

the body is named as : 

(1) Homeostasis   

(2) Osmoregulation  

(3) Excretion   

(4) Nutrition   

  
6. 'kjhj esa mfpr ek=k esa ikuh o mfpr ek=k 

esa vk;fud lUrqyu dks dgk tkrk gS % 

 

(1) gksfe;ksLVsfll  

(2)  vkLeksjsxqys’ku 

(3) ,DlØh’ku ¼ey R;kx½ 

(4)  U;wVªh’ku ¼iks"k.k½ 

7. A 10 kg box is suspended from a 

beam in three ways as shown in 

figure. In which case, tension in 

string is maximum ? 

        (i)                  (ii)                 (iii)               (iv) 

(1) i (2) ii 

(3) iii (4) iii & iv both 

  7. 10 kg ds ,d ckWDl dks ,d NM+ ls 

fp=kuqlkj rhu rjhdksa ls yVdk;k x;k gSA 

buesa ls fdl fLFkfr esa Mksjh esa ruko 

vf/kdre gksxk \   

        (i)                  (ii)                 (iii)               (iv) 

(1) i (2) ii 

(3) iii (4) iii o iv nksuksa 

8. If ,3

34731028

3
ba +=

−−+

 

Where a and b are integers, then 

the value of ba 125 +  is : 

(1) 4 (2) 3 

(3) 11  (4) 13  

  
8. ;fn  ba 3

34731028

3
+=

−−+

 

gS] tgk¡ a vkSj b iw.kkZad gSa] rks 
ba 125 +  dk eku gS % 

 

(1) 4 (2) 3 

(3) 11  (4) 13  

60°°°° 

60°°°° 
120°°°° 60°°°° 

60°°°° 
120°°°° 
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9. Element M forms a chloride with 

the formula MCl3. Element M 

would most likely in the same 

group of periodic table as : 

(1) Si (2) Al 

(3) Mg (4) Na 

  
9. rRo M, MCl3 lw= okyk ,d DyksjkbM 

cukrk gSA vkorZ lkj.kh esa ;g rRo M 

laHkor% fdl lewg ds varxZr gksxk \ 

 

(1) Si (2) Al 

(3) Mg (4) Na 

10. Which of the following is not a 

part of human hind brain ? 

(1) Crura cerebri   

(2) Medulla oblongata  

(3) Pons varoli  

(4) Cerebellum 

  
10. ekuo efLr"d ds i’p fgLls esa fuEu esa ls 

dksbZ ,d Hkkx ughaughaughaugha gSA 

(1) Øwjk lsjhczkbZ 

(2)  esMqyk vkCyksaxsVk 

(3) iksUl osjksykbZ  

(4)  lsjhcsye 

11. Which of the following statement 

does not match the Nazi views on 

women ? 

(1) Women are radically different 

 from men. 

(2) Women must become good 

 mothers and rear pure blooded 

 ‘Aryan’ children. 

(3) Women should be entitled 

equal rights to men. 

(4) Women must produce more 

children. 

  
11. fuEufyf[kr esa ls dkSu lk dFku] efgykvksa 

ds ckjs esa ukth fopkj/kkjk ls esy ugha 
[kkrk \  

(1) efgyk,¡ iq#"kksa ls ,dne fHkUu gksrh 
gSaA 

(2)  efgykvksa dks vPNh ekrk,¡ cuuk 
pkfg, rFkk 'kq)&jDr ds vk;Z cPpksa 
dk ykyu&ikyu djuk pkfg,A 

(3) efgykvksa dks iq#"kksa ds leku vf/kdkj 
feyus pkfg,A  

(4)  efgykvksa dks vf/kdkf/kd cPps iSnk 
djus pkfg,A 
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12. What model of government did 

Montesquieu propose in his book 

‘A Spirit of Laws’ ? 

(1) To refute the doctorine of the 

divine and absolute rights of 

the monarch. 

(2) A government based on the 

social contract between people 

and their representatives. 

(3) Division of powers within the 

government between the 

legislative, the executive and 

the judiciary. 

(4) Concentration of all the powers 

in the hands of a monarch and 

his group of loyal people. 

  
12. ekWUVsLD;w us viuh iqLrd ^, fLifjV vkWQ 

ykWt* esa ljdkj ds fdl Lo:i dks izLrkfor 
fd;k \  
(1) rkuk’kkg ds nSoh rFkk laizHkqrk ds 

vf/kdkjksa dk [kaMuA  
 

(2) ukxfjdksa o muds izfrfuf/k;ksa ds chp 
lkekftd le>kSrs ij vk/kkfjr 
ljdkjA 

(3) ljdkj ds Hkhrj oS/kkfud] dk;Zikfydk 
,oa U;k;ikfydk ds chp 'kfDr;ksa dk 
caVokjkA  
 

(4) rkuk’kkg rFkk mlds LokehHkDrksa ds 
lewg ds gkFkksa esa lHkh 'kfDr;ksa dk 
dsanzh;dj.kA 

13. Read the following statements. 

Statement - I :  Plaster of Paris is 

stored in moisture proof containers. 

Statement - II : Plaster of Paris on 

reaction with water changes into a 

hard solid gypsum.  

Select the correct answer from 

the options given below : 

(1) Statement - I is true,  

 Statement - II is false. 

(2) Statement - I  is false,  

 Statement - II is true. 

(3) Both Statements are true and 

 Statement - II provides  

 explanation to Statement - I  

(4) Both Statements are true but 

 Statement - II does not provide 

 explanation to Statement - I. 

  
13. fuEufyf[kr dFkuksa dks if<+,A  

dFkudFkudFkudFku -    I    %%%% IykLVj vkWQ isfjl dks vknzZ 
&jks/kh crZu esa j[kk tkrk gSA  

dFkudFkudFkudFku -    II    %%%% IykLVj vkWQ isfjl ty ls 
vfHkfØ;k djds dBksj Bksl ftIle esa cny 
tkrk gSA 

uhps fn, x, fodYiksa esa ls lghlghlghlgh mÙkj 
pqfu, % 

(1) dFku - I lgh gS] dFku - II xyr gSA 

(2)  dFku - I xyr gS] dFku - II lgh gSA 

(3) nksuksa dFku lgh gSa vkSj dFku - I 
dFku - II dh O;k[;k djrk gSA 

(4) nksuksa dFku lgh gSa ijUrq dFku - II 
dFku - I dh O;k[;k ugha djrk gSA 
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14. Organs which look different and 

perform different functions but 

have similar basic structure and 

origin are called : 

(1) Analogous organs 

(2) Homologous organs 

(3) Similar organs 

(4) Dissimilar organs 

  
14. ,sls vax tks vyx fn[kkbZ nsrs gSa o 

vyx&vyx dk;Z djrs gSa ysfdu mudh 

ewy jpuk o mRifÙk ,d tSlh gksrh gS] 

dgykrs gSa % 

(1) ,ukyksxl vax  

(2)  gkseksyksxl vax 

(3) ,d tSls vax  

(4)  fofHkUu vax 

15. Two organic compounds ‘X’ and ‘Y’ 

react with sodium metal and both 

produce same gas ‘A’. With sodium 

hydrogen carbonate only compound 

‘Y’ reacts to produce gas ‘B’ identify 

X, Y, A and B : 

(1) X = C2H4  Y = C2H5OH 

A  =  CO2    B = H2  

(2) X = C2H5OH Y = CH3COOH  

A = H2   B = CO2 

(3) X = CH3OH   Y = C2H5OH   

A  =  H2   B = CO2  

(4) X = CH3COOH   Y = HCOOH   

A = CO2  B = H2 

  
15. nks dkcZfud ;kSfxd ‘X’  vkSj ‘Y’ lksfM;e 

/kkrq ds lkFk vfHkfØ;k djds ,d gh xSl 

‘A’ cukrs gSaA lksfM;e gkbMªkstu dkcksZusV 

ds lkFk dsoy ‘Y’ ;kSfxd vfHkfØ;k djrk 

gS rFkk xSl B cukrk gSA X, Y, A vkSj B 

dks igpkfu, % 

(1) X = C2H4  Y = C2H5OH 

A  =  CO2    B = H2  

(2) X = C2H5OH Y = CH3COOH  

A = H2   B = CO2 

(3) X = CH3OH   Y = C2H5OH   

A  =  H2   B = CO2  

(4) X = CH3COOH   Y = HCOOH   

A = CO2  B = H2 
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16. How many numbers lie between 

100 and 400 which when divided 

by 9 leave a remainder 6, and 

when divided by 21, leave a 

remainder 12 ? 

(1) 3 (2) 4 

(3) 5 (4) 6 

  
16. 100 vkSj 400 ds chp ,slh fdruh 

la[;k,¡ gSa] ftUgsa 9 ls Hkkx nsus ij 'ks"kQy 

6 vkrk gS vkSj 21 ls Hkkx nsus ij 'ks"kQy 

12 vkrk gS \  

 

(1) 3 (2) 4 

(3) 5 (4) 6 

17. What did freedom mean for the 

plantation workers of Assam ? 

(1) Self Government  

(2) Freedom from Zamindars  

(3) Fare labour  

(4) Right to move freely in and out 

 of the plantations 

  
17. vle ds ckxkuh etnwjksa ds fy, vktknh 

dk D;k eryc Fkk \ 

(1) viuh ljdkj  

(2)  tehankjksa ls vktknh 

(3) mfpr etnwjh  

(4)  ckxkuksa ls ckgj vkus&tkus dh vktknh 

18. If a, b and c are integers such that 

( )( ) ,2024224 3333 =++−+ cba  

then which one of the following is 

true ?  

(1) a + b – c = 10 

(2) a – b + c = 10 

(3) a + b = 2c  

(4) a + b + c = 16 

  
18. ;fn a, b vkSj c iw.kkZad gSa vkSj  

( )( ) ,2024224 3333 =++−+ cba  

gS] rks fuEu esa ls dkSu-lk lR;lR;lR;lR; gS \ 

 

(1) a + b – c = 10 

(2) a – b + c = 10 

(3) a + b = 2c  

(4) a + b + c = 16 
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19. Which of the following were the 

famous three demands of Lenin 

that are also known as ‘April 

Theses’ ? 

I The war be brought to close. 

II Land be transfered to the 

peasants. 

III Restrictions on public 

meetings be imposed 

IV Banks be nationalised. 

(1) I, II, III (2) II, III, IV 

(3) I, III, IV (4) I, II, IV 

  
19. fuEufyf[kr esa ls ysfuu dh izfl) rhu 

ek¡xsa dkSu-lh Fkha ftUgsa ^vizSy Fkhfll* ds 
uke ls Hkh tkuk tkrk gS \ 
 
I ;q) can dj fn;k tk,A  
 
II fdlkuksa dks tehu okil ns nh tk,A 
III tulHkkvksa ij ikcanh yxk nh tk,A  
 
IV cSadksa dks jk"Vªh;d`r fd;k tk,A 
(1) I, II, III (2) II, III, IV 

(3) I, III, IV (4) I, II, IV 

20. Carrying the flag, holding it aloft 

during marches in Indian National 

movement, was a symbol of : 

(1) Leadership  

(2) Defiance 

(3) Non - Violence  

(4) Satyagrah 

  
20. Hkkjr ds jk"Vªh; vkUnksyu ds nkSjku] tqywl 

esa >aMk Fkkes pyuk] fdl ckr dk izrhd 
Fkk \ 

(1) usr`Ro  

(2) 'kklu ds izfr voKk 

(3) vfgalk  

(4) lR;kxzg 

21. H

O

CCH

O

CCHH

OH

CCH −−−−−−
||

2

||

2

|

3  

Which functional groups are 

present in this organic compound ? 

(1) Alcohol, ketone and ester 

(2) Alcohol, ketone and carboxylic 

acid 

(3) Alcohol, ketone and aldehyde 

(4) Alcohol, aldehyde and carboxylic 

acid 

  
21. H

O

CCH

O

CCHH

OH

CCH −−−−−−
||

2

||

2

|

3  

mijksDr dkcZfud jklk;u esa dkSu&ls 

izdk;kZRed lewg mifLFkr gSa \ 

(1) vYdksgy] dhVksu rFkk ,LVj 

(2)  vYdksgy] dhVksu rFkk dkcksZfDlfyd 

vEy 

(3) vYdksgy] dhVksu rFkk ,YMhgkbM 

(4)  vYdksgy] ,YMhgkbM rFkk dkcksZfDlfyd 

vEy 
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22. How many subjects are given in 

central list ? 

(1) 97  

(2) 66 

(3) 50  

(4) 47 

  
22. dsUnzh; lwph esa dqy fdrus fo"k; gSa \ 

 

(1) 97  

(2)  66 

(3) 50  

(4)  47 

23. What is the mass of 2.5 moles of 

CO2 ? 

(1) 100 g  

(2) 110 g 

(3) 88 g  

(4) 98 g 

  
23. 2.5 eksy CO2 dh lagfr ¼otu½ D;k 

gksxh \ 

(1) 100 g  

(2) 110 g 

(3) 88 g  

(4) 98 g 

24. Which of the following organ        

in human male is called 

thermoregulator ? 

(1) Vas deferens  

(2) Ejaculatory ducts  

(3) Scrotum   

(4) Cowper’s gland 

  
24. iq#"kksa esa fuEufyf[kr esa ls fdl Hkkx dks 

FkeksZjsxqysVj dgk tkrk gS \ 

 

(1) okl fMQjsUl 

(2)  btsdqysVjh MDV~l 

(3) LØksVe  

(4)  dwilZ xzfUFk 
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25. The graphs of the equations              

2x + 3y = A and x + 2y = B intersect 

at the point P, which also lies on 

the graph of the equation : 

(1) 5x + 3y = A – B  

(2) 3x – 5y = A + B 

(3) 3x – 5y = A – B  

(4) 3x + 5y = A + B 

  
25. lehdj.kksa 2x + 3y = A rFkk x + 2y = B 

ds vkys[k fcUnq P ij izfrPNsn djrs gSaA 

fcUnq P fuEu lehdj.k ds vkys[k ij Hkh 

fLFkr gS % 

(1) 5x + 3y = A – B  

(2) 3x – 5y = A + B 

(3) 3x – 5y = A – B  

(4) 3x + 5y = A + B 

26. Radha works in an office from 

9 am to 5 pm. She gets her salary 

regularly every month and also 

she gets provident fund, medical 

and other allowances as per the 

rules laid down by the govt. 

Sunday is a paid holiday for her. 

She was given an appointment 

letter stating all the terms and 

conditions of work at the time of 

joining. 

Her cousin Ram is a daily wage 

labourer in a cloth shop. He goes 

to shop at 8 am and works till 

8 pm in the evening. He does not 

  
26. jk/kk ,d dk;kZy; esa lqcg 9 cts ls 'kke 

5 cts rd dke djrh gSA og fu;fer :i 

ls izR;sd ekg viuk osru ikrh gSA osru 

ds vfrfjDr og ljdkjh fu;eksa ds rgr 

Hkfo"; fuf/k] fpfdRlh; rFkk vU; HkÙks Hkh 

izkIr djrh gSA jfookj mldk losru 

vodk’k gksrk gSA tc mlus ukSdjh vkjEHk 

dh Fkh] rc mls ,d fu;qfDr i= fn;k x;k 

Fkk ftlesa ukSdjh laca/kh fuca/ku vkSj 'krks± 

dk mYys[k fd;k x;k FkkA  

mldk ppsjk HkkbZ jke] ,d diM+s dh nqdku 

esa nSfud etnwjh djus okyk Jfed gSA og 

lqcg 8 cts nqdku ij tkrk gS vkSj 'kke 

8 cts rd dke djrk gSA mls viuh 
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get any type of allowances apart 

form his wages. He is not paid for 

days he does not work i.e. He does 

not get paid holidays. Also, he did 

not get any appointment letter. 

In which sectors, Both Radha and 

Ram work ? 

(1) Both are in organised sectors. 

(2) Both are in unorganised 

sectors.  

(3) Radha works in organised 

sector while Ram works in 

unorganised sector. 

(4) Radha works in unorganised 

sector while Ram works in 

organised sector. 

etnwjh ds vfrfjDr vU; dksbZ HkÙkk ugha 

feyrk gSA mls dksbZ losru vodk’k ugha 

feyrk gSA mls dksbZ vkSipkfjd i= ugha 

feyk gS] ftlesa nqdku esa fu;qfDr ds ckjs esa 

dgk x;k gksA  

crkb, jk/kk vkSj jke fdl&fdl {ks=d esa 

dke djrs gSa \ 

(1) nksuksa laxfBr {ks=d esa dke djrs gSaA 

(2)  nksuksa vlaxfBr {ks=d esa dke djrs gSaA 

(3) jk/kk laxfBr {ks=d esa dke djrh gS 

tcfd mldk pspjk HkkbZ jke 

vlaxfBr {ks=d esa dke djrk gSA  

(4) jk/kk vlaxfBr {ks=d esa dke djrh gS 

tcfd mldk ppsjk HkkbZ jke laxfBr 

{ks=d esa dke djrk gSA 

27. Who was the author of 

Arthashastra ? 

(1) Kautilya (2) Plato 

(3) Aristotle (4) Mechiavelli 

  
27. vFkZ’kkL= dk ys[kd dkSu Fkk \ 

 

(1) dkSfVY; (2)  IysVks 

(3) vjLrw (4)  eSfd;kosyh  
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28. Which is the ruling party in 

Telangana ? 

(1) T.D.P.  

(2) Indian National Congress 

(3) B.J.D.  

(4) T.R.S. 

  
28. rsyaxkuk jkT; esa fdl ny dh ljdkj gS \ 

 

(1) Vh- Mh- ih-  

(2) dkaxzsl 

(3) ch- ts- Mh-  

(4) Vh- vkj- ,l- 

29. Which of the following UT does 

not have its own Assembly ? 

(1) Delhi (2) J & K 

(3) Ladakh (4) Pondicherry 

  
29. fuEu dsUnz'kkflr izns’kksa esa fdldh viuh   

fo/kku lHkk ughaughaughaugha gS \ 

(1) fnYyh (2)  tEew vkSj d’ehj 

(3) yn~nk[k (4)  ikaMhpsjh 

30. Teacher wrote following points on 

the blackboard about a particular 

crop i.e. Temp. 20° - 35°C, Rainfall 

- not less than 200 cm Terrain - 

undulating, soil - laterite, red, 

yellow. Which of the following crop 

the teacher is discussing about ? 

(1) Jute (2) Millet 

(3) Coffee (4) Rubber 

  
30. ,d v/;kid d{kk es fuEufyf[kr esa ls 

fdlh ,d Qly dh HkkSxksfyd ifjfLFkfr;ksa 

ds ckjs esa ';keiV ij fy[k jgk gS rkieku 

20° - 35°C, o"kkZ 200 ls-eh- ls T;knk] 

/kjkry&voIr Hkwfe] feêh & yky] ihyh] 

ysVsjkbVA fuEu esa ls pqusa fd og fdl 

Qly ds ckjs voxr djok jgk gS \ 

(1) twV (2)  cktjk 

(3) dkWQh (4)  jcM+ 
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31. The daily wage of a person in rural 

area is Rs. 200 and the poverty 

line for a person is fixed at Rs. 800 

per month for rural areas. 

Following table shows the detail of 

employment of four families living 

in a village. Identify the family 

living below poverty line : 

Family Total days of 

Employement 

got in a month 

by the family 

Members 

of family 

Ram 10 2 

Radha 18 3 

Raju 12 4 

Pooja 25 5 

(1) Pooja  

(2) Ram 

(3) Radha    

(4) Raju 

  
31. xzkeh.k {ks= esa ,d O;fDr dh nSfud etnwjh 

#0 200 gS rFkk ,d O;fDr ds fy, 

fu/kZurk dh js[kk #0 800 izfrekg fuf’pr 

dh xbZ gSA fuEufyf[kr rkfydk esa ,d xk¡o 

esa jgus okys pkj ifjokjksa ds jkstxkj dk 

fooj.k fn;k x;k gSA fu/kZurk js[kk ls uhps 

jgus okys ifjokj dks igpkfu, % 

 

ifjokjifjokjifjokjifjokj    ifjokj }kjk ifjokj }kjk ifjokj }kjk ifjokj }kjk 

,d ekg esa ,d ekg esa ,d ekg esa ,d ekg esa 

izkIr jkstxkj izkIr jkstxkj izkIr jkstxkj izkIr jkstxkj 

ds fnuds fnuds fnuds fnu 

ifjokj ds ifjokj ds ifjokj ds ifjokj ds 

lnL;ksa dh lnL;ksa dh lnL;ksa dh lnL;ksa dh 

la[;kla[;kla[;kla[;k 

jke 10 2 

jk/kk 18 3 

jktw 12 4 

iwtk 25 5 

(1) iwtk  

(2)  jke 

(3) jk/kk   

(4)  jktw 
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32. The I.U.P.A.C. name of following 

compound is : 

3

52

|
2

52

|
3 CHCHCHHCCH

HCHC

−−−−  

(1) 2,4 - Diethyl pantane  

(2) 2,4 - Diethyl butane  

(3) 3,5 - Dimethyl hexane   

(4) 3,5 - Dimethyl heptane 

  
32. fuEu ;kSfxd dk I.U.P.A.C. uke D;k 

gS \  

3

52

|
2

52

|
3 CHCHCHHCCH

HCHC

−−−−   

(1) 2,4&MkbZbFkkby isUVsu 

(2)  2,4&MkbZbFkkby C;wVsu 

(3) 3,5&MkbZfeFkkby gsDlsu 

(4)  3,5&MkbZfeFkkby gsIVsu 

33. Which one of the following is not 

an example of fixed capital ? 

(1) Tools (2) Raw materials  

(3) Machines  (4) Buildings 

  
33. fuEufyf[kr esa ls dkSu LFkk;h iw¡th dk 

mnkgj.k ughaughaughaugha gS \ 

(1) vkStkj (2)  dPpk eky 

(3) e’khu  (4)  Hkou 

34. If 
1

1

coteccos

coteccos

cos1

cos1

+

−
=

θ+θ

θ−θ
×

θ+

θ−

r

r
 

then : 

(1) 1tan 2 −=θ r  

(2) cos θ = r 

(3) 
r

r 1
cossin

2 +
=θ+θ  

(4) 21cot r−=θ  

  
34. ;fn 

1

1

coteccos

coteccos

cos1

cos1

+

−
=

θ+θ

θ−θ
×

θ+

θ−

r

r
 

gS] rks % 

(1) 1tan 2 −=θ r  

(2) cos θ = r 

(3) 
r

r 1
cossin

2 +
=θ+θ  

(4) 21cot r−=θ  
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35. Arrange the following households 

in ascending order of per capita 

income. 

Name of 

Household 

Total Income 

of Household 

Size of the 

Household 

Rajat 6000 5 

Raman 5000 5 

Suman 3200 4 

Priya 8400 6 

(1) Suman < Raman < Rajat < Priya 

(2) Priya < Rajat < Raman < Suman 

(3) Raman < Rajat < Suman <  Priya 

(4) Suman < Rajat < Raman < Priya 

  
35. fuEufyf[kr ifjokjksa dks izfr O;fDr vk; ds 

vk/kkj ij vkjksgh Øe esa O;ofLFkr 
dhft,A 

ifjokj dk ifjokj dk ifjokj dk ifjokj dk 

ukeukeukeuke    

ifjokj dh ifjokj dh ifjokj dh ifjokj dh 

dqy vk;dqy vk;dqy vk;dqy vk;    

ifjokj ifjokj ifjokj ifjokj dkdkdkdk    

vkdkjvkdkjvkdkjvkdkj    

jtr 6000 5 

jeu 5000 5 

lqeu 3200 4 

fiz;k 8400 6 

(1) lqeu < jeu < jtr < fiz;k 

(2) fiz;k < jtr < jeu < lqeu  

(3) jeu < jtr < lqeu < fiz;k 

(4) lqeu < jtr < jeu < fiz;k 

36. India imports Chinese toy at Rs. 

100, whereas the same toy is 

manufactured and available in 

India for Rs. 150. Now if Indian 

Govt. puts tax of Rs 50 on import 

of that toy. This Practice of Indian 

Govt. is known as : 

(1) Export Substitution  

(2) Trade barrier   

(3) Import Substitution  

(4) Dumping 

  
36. Hkkjr phu ls #0 100 dh dher okyk ,d 

f[kykSuk vk;kr djrk gS tcfd ogh f[kykSuk 
Hkkjr esa fufeZr gksrk gS vkSj #0 150 esa 
feyrk gSA vc ;fn Hkkjr ljdkj ml 
f[kykSus ds vk;kr ij #0 50 dk dj yxk 
nsrh gS] rks Hkkjr ljdkj dh bl uhfr dks 
dgk tk,xk % 

(1) fu;kZr izfrLFkkiu 

(2)  O;kikj vojks/kd 

(3) vk;kr izfrLFkkiu  

(4)  MfEiax 
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37. The arithmetic progressions : 1, 4, 7, 

....... and 2, 10, 18, ...., each 

contains 100 terms. How many 

terms are common to both the 

progression ? 

(1) 10  

(2) 12 

(3) 13  

(4) 14 

  
37. lekarj Jsf.k;ksa % 1, 4, 7, …… vkSj 

2, 10, 18, ……, esa izR;sd ds 100 

in gSaA nksuksa Jsf.k;ksa esa fdrus in 

mHk;fu"B”  gSa \  

 

(1) 10  

(2) 12 

(3) 13  

(4) 14 

Direction : (Q. 38 to 41) Read the 

statements and select the correct answer 

from the options given below. 

(1) Statement - I is True. 

 Statement- II is false. 

(2) Statement - I is false.  

 Statement - II is true. 

(3) Both statement are true and  

 statement - II provides    

 explanation to statement - I. 

(4) Both statements are true but  

 statement - II does not provide  

 explanation of statement - I. 

  
funsZ’k %funsZ’k %funsZ’k %funsZ’k % ¼iz0 38 ls 41½ uhps fn, x, dFkuksa dks 

if<+;s vkSj fn, x, fodYiksa esa ls lgh mÙkj dk 

p;u dhft,A  

(1) dFku - I lgh gSA  

 dFku - II xyr gSA  

(2) dFku - I xyr gSA 

 dFku - II lgh gSA  

(3) nksuksa dFku lgh gSa] dFku - II dFku - I  

 dh O;k[;k djrk gSA   

 

(4) nksuksa dFku lgh gSa] ijUrq dFku - II  

 dFku - I dh O;k[;k ugha djrk gSA 
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38. Statement - I : Three wars over 

seven years with Austria, Denmark 

and France ended in Prussian 

Victory and completed the process 

of unification of Germany.  

Statement - II : On 18th January, 

1871 new German Empire was 

proclaimed headed by Kaiser 

William I of Prussia in the Palace 

of Versailles. 

  
38. dFku dFku dFku dFku - I % lkr o"kZ ds nkSjku vkWfLVª;k] 

MsuekdZ vkSj Ýkal ls rhu ;q)ksa esa izf’k;k 

dh thr ds lkFk teZuh ds ,dhdj.k dh 

izfØ;k iwjh gqbZA  

 

dFkudFkudFkudFku- II    %%%% 18 tuojh] 1871 dks olkZ; 

ds egy esa izf’k;k ds dkbt+j fofy;e - I 

ds vxqokbZ esa u, teZu lkezkT; dh ?kks"k.kk 

dh xbZA 

39. Statement - I : On 5th May, 1789, 

Louis XVI called together an 

assembly of the Estate General to 

pass proposals for new taxes. 

Statement - II : The members of the 

third estate demanded that voting 

now be conducted by the principle 

that each estate had one vote. 

  

39. dFku dFku dFku dFku - I %%%% 5 ebZ] 1789 dks yqbZ XVIosa 

us] u, djksa ds izLrko dks ikfjr djus ds 

fy, bLVsV tujy dh lHkk cqykbZA 

 

dFku dFku dFku dFku - II    %%%% r`rh; bLVsV ds lnL;ksa us 

ek¡x j[kh fd izR;sd bLVsV ds ,d oksV ds 

fl)kUr vuqlkj oksfVax dh tk,A 
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40. Statement - I : Under the shadow of 

the Second World War Germany had 

waged a genocidal war, which resulted 

in the mass murder of selected groups 

of innocent civilians of Europe. 

Statement - II : Germany’s conduct 

during the war, especially those 

actions which came to be called 

‘Crimes Against Humanity’ raised 

serious moral and ethical question 

and invited worldwide condemnation. 

 

  
40. dFku dFku dFku dFku - I %%%% f}rh; fo’o;q) ds lk;s esa 

teZuh us ujlagkj 'kq: dj fn;k A ftlds 

ifj.kkeLo:i ;wjksi ds dqN eklwe ukxfjdksa 

ds lewgksa dh cM+h la[;k esa gR;k;sa dh xbZaA 

 

dFku dFku dFku dFku - II %%%% ;q) ds nkSjku teZuh dk 

vkpj.k] fo’ks"kr% os dk;Z ftUgsa ^ekuork ds 

f[kykQ vijk/k* us xaHkhj uSfrd o 

U;k;laxr iz’uksa dks mBk;k rFkk mudh 

fo’oO;kih vkykspuk gqbZA 

41. Statement - I : After the corn laws 

were scrapped the condition of 

peasants deteriorated as they were 

unable to compete with imports. 

Statement - II : Around the world 

in Eastern Europe, Russia, Amarica 

and Australia lands were cleared 

and food  production expanded to 

meet the British demand . 

  
41. dFku dFku dFku dFku - I    %%%% fczVsu esa dkuZ&ykW ds fujLr 

gksus ds ckn fdlkuksa dh gkyr fcxM+us yxh 

D;ksafd os vk;kfrr eky dh dher dk 

eqdkcyk ugha dj ldrs FksA 

dFku dFku dFku dFku - II    %%%% iwohZ ;wjksi] :l] vesfjdk 

vkSj vkLVªsfy;k] nqfu;k ds gj fgLls esa fczVsu 

ds yksxksa ds Hkkstu ds fy, tehuksa dks lkQ 

djds [ksrh dh tkus yxhA 
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42. Consider an infinite grid with 

square cells. The resistance between 

two adjacent joints is R. Find the 

net resistance Rnet of the whole 

grid between two points A & B. 

 

(1) R  (2) R/2 

(3) R/4  (4) 4R 

  
42. ,d vuUr foLrkj ,oa oxkZdkj [kkuksa ds 

tky dh dYiuk djsaA blds nks fudVorhZ 
tksM+ksa ds chp izfrjks/k R gSA A vkSj B ds 
e/; & lEiw.kZ tky ds rqY; izfrjks/k Rnet 
dk eku gksxk % 

 

(1) R (2) R/2 

(3) R/4 (4) 4R 

43. Arrange the following in a 

chronological sequence : 

I  Second Round table 

 conference 

II Establishment of Depressed 

 class Association 

III Breaking of salt law and 

 beginning of civil disobedience 

 Movement  

IV Lahore Congress  

(1) II, III, IV, I (2) I, II, III, IV 

(3) IV, II, III, I (4) III, I, II, IV 

  
43. fuEufyf[kr dks dkyØekuqlkj O;ofLFkr 

djsa % 

I  f}rh; xksyest lEesyu  

 

II nfyr&oxZ ,lksfl,’ku dh LFkkiuk  

 

III ued&dkuwu rksM+uk rFkk lfou; 

voKk vkUnksyu dh 'kq:vkr  

 

IV ykgkSj dkaxzsl 

(1) II, III, IV, I (2) I, II, III, IV 

(3) IV, II, III, I (4) III, I, II, IV 
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44. Arrange the following in a 

chronological sequence :  

I Abdication of Tsar  

II Bloody Sunday 

III Formation of Comintern 

IV Civil War 

(1) II, I, IV, III (2) III, IV, I, II 

(3) I, III, II, IV (4) I, IV, III, II 

  
44. fuEufyf[kr dks dkyØekuqlkj O;ofLFkr 

djsa % 

I t+kj dk inR;kx 

II [kwuh jfookj 

III dksfeaVj~u dk xBu 

IV x`g ;q) 

(1) II, I, IV, III (2) III, IV, I, II 

(3) I, III, II, IV (4) I, IV, III, II 

45. A uniform wire of resistance 9Ω 
having resistance 1Ω/m is bent in 

the form of a circle as shown in 

figure. If the equivalent resistance 

between P & Q is 2Ω, what is the 

length of shorter section  ? 

 

(1) 4 m  

(2) 3 m 

(3) 6 m  

(4) 2 m 

  
45. 9Ω izfrjks/k rFkk 1Ω/m ds ,d leku 

rkj dks fp=kuqlkj ,d o`Ùk ds :i esa eksM+ 
fn;k x;kA ;fn P o Q ds e/; rqY; 
izfrjks/k 2Ω gks] rks NksVs Hkkx dh yEckbZ 
gksxh %  
 

 

(1) 4 m  

(2) 3 m 

(3) 6 m  

(4) 2 m 

P 

Q 

P 

Q 
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46. Consider the following statements. 

A The velocity of sound in air  

 increases due to presence of  

 moisture in it. 

R The presence of moisture in air 

lowers the density of air. 

In above statements :  

(1) Both ‘A’ & ‘R’ are correct & ‘R’ 

is  the correct explanation of 

‘A’  

(2) Both ‘A’ & ‘R’ are correct but ‘R’ 

is not the correct explanation 

of ‘A’ 

(3) ‘A’ is correct, ‘R’ is incorrect   

(4) ‘A’ is incorrect, ‘R’ is correct 

  
46. fuEu dFku ij /;ku nsaA 

A ok;q esa ueh dh mifLFkfr ls blesa 
/ofu dh pky c<+ tkrh gSA 

R ueh dh mifLFkfr esa ok;q dk ?kuRo 
de gks tkrk gSA  

mijksDr dFkuksa esa % 

(1) ‘A’ ,oa ‘R’ nksuksa lgh gSa rFkk ‘R’, ‘A’ 
dh lgh O;k[;k gS 

(2) ‘A’ ,oa ‘R’ nksuksa lgh gSa rFkk ‘R’, ‘A’ 
dh lgh ugha O;k[;k gS 
 

(3) ‘A’ lgh gS] ‘R’  lgh ugha gS 

(4) ‘A’ lgh ugha gS] ‘R’ lgh gS 

47. When a cell is placed in strong salt 

solution. It shrinks, because : 

(1) Salt solution enters in cell  

 

(2) Cytoplasm of the cell begins to 

 decompose 

(3) Water came out of the cell to 

 develop equilibrium  

(4) Water enters inside the cell to 

 develop equilibrium 

  
47. tc ,d dksf’kdk dks lkUnz ued ds foy;u 

esa j[kk tkrk gSA ;s fldqM+ tkrh gS] D;ksafd %  

(1) ued dk foy;u dksf’kdk esa izos’k 

djrk gS 

(2)  dksf’kdk dk thonzO; fo?kfVr gksuk 'kq: 

 gks tkrk gS 

(3) dksf’kdk ls ikuh ckgj vkrk gS rkfd 

 lkeatL;rk fodflr gks lds 

(4)  ikuh dksf’kdk ds vUnj tkrk gS rkfd 

 lkeatL;rk fodflr gks lds 
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48. A person has a rectangular sheet of 

metal. He has to make cylinderical 

vessel whose both circular ends 

are closed. When he minimize the 

wastage of the sheet, then what is 

the ratio of the wasted sheet to the 

utilised sheet ? )
7

22
( =π  

(1) 
22

1
  

(2) 3/11 

(3) 
11

1
  

(4) 5/22 

  
48. fdlh O;fDr ds ikl /kkrq dh ,d 

vk;rkdkj pknj gSA mls blls ,d 

csyukdkj crZu cukuk gS] ftlds  nksuksa 

òÙkkdkj fljs can gSaA tc og csdkj tkus 

okyh pknj dks U;wure djrk gS] rks csdkj 

tkus okyh pknj dk iz;ksx esa vkus okyh 

pknj ls vuqikr gS \ )
7

22
( =π  

(1) 
22

1
  

(2) 3/11 

(3) 
11

1
  

(4) 5/22 

49. In a two body collision, the 

momentum is varying with time as 

shown in graph. The instantaneous 

force is maximum at : 

 

(1) P  (2) Q 

(3) R (4) S 

  
49. f}&fi.M la?kê esa] le; ds lkFk laosx dk 

ifjorZu xzkQ esa iznf’kZr gSA rkRdkfyd cy 

dk vf/kdre eku gksxk % 

 
 

(1) P  (2) Q 

(3) R (4) S 
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50. Select the correct set of statements 

regarding change in properties, as 

we move left to right in the second 

period of periodic table : 

I Atomic size decreases 

II Valency remains same 

III Electronegativity increases  

IV Metallic character decreases 

(1) I, II and III  

(2) II, III and IV 

(3) I, II and IV  

(4) I, III and IV 

  
50. vkorZ lkj.kh ds nwljs vkorZ esa ck;ha ls 

nk;ha vksj tkrs gq, xq.k/keks± ds ifjorZu ds 

lanHkZ esa lgh lewg pqfu, % 

 

I ijek.kq lkbt ?kVrk gS 

II la;kstdrk leku jgrh gS 

III fo|qr&_.kkRedrk c<+rh gS 

IV /kkfRod xq.k ?kVrk gS 

(1) I, II rFkk III  

(2) II, III rFkk IV 

(3) I, II rFkk IV  

(4) I, III rFkk IV 

51. Shivasamudram fall is found on 

which river ?  

(1) Mahanadi   

(2) Chenab 

(3) Cavery  

(4) Krishna 

  
51. f’koleqnze /kkjk fdl unhiFk ij ikbZ tkrh 

gS \ 

(1) egkunh  

(2)  psukc 

(3) dkosjh  

(4)  d`".kk 
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52. Which metallic mineral is famous 

in the Balaghat district of Madhya 

Pradesh ? 

(1) Gold (2) Iron 

(3) Copper  (4) Zinc 

  
52. fuEu esa ls dkSu&lh /kkrq ;k [kfut 

e/; izns’k ds ckyk?kkV ftys esa izfl) gS \ 

 

(1) Lo.kZ (2)  ykSg 

(3) rk¡ck (4)  tLrk 

53. Ram was working with his father 

in their farm. His father was small 

farmer. Income generated from the 

farm was not enough for the 

family. Ram got an opportunity to 

get loan from the bank under a govt. 

programme. He bought a rickshaw 

with that money and started 

working as a rickshaw puller in the 

city. Now he is able to earn good 

enough and their family income is 

increased than earlier. Such kind 

of activity done by Ram to improve 

his financial condition comes under :  

(1) Primary Sector  

(2) Secondary Sector  

(3) Manufacturing Sector   

(4) Service Sector 

  
53. jke vius firk ds lkFk vius [ksr esa dke 

djrk FkkA mlds firk y?kq d`"kd FksA [ksrh 

ls gksus okyh vk; muds ?kj&ifjokj dh 

vko’;drkvksa dks iwjk djus ds fy, i;kZIr 

ugha FkhA jke dks ,d ljdkjh ;kstuk ds 

rgr cSad ls dtZ ysus dk volj fey 

x;kA mlus ml iSls ls ,d fjD’kk [kjhnk 

vkSj 'kgj tkdj ,d fjD’ksokys dk dke 

'kq: dj fn;kA vc oks i;kZIr ek=k esa dek 

ik jgk FkkA mlds ifjokj dh vk; vc 

igys ls vf/kd gks xbZ FkhA jke }kjk vius 

ifjokj dh vkfFkZd fLFkfr lq/kkjus ds fy, 

bl izdkj dk dk;Z djuk fdl {ks=d ds 

vUrxZr vk,xk \ 

(1) izkFkfed {ks= 

(2)  f}rh;d {ks= 

(3) mRiknu {ks=  

(4)  lsok {ks= 
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54. A screen bearing a real image of 

magnification m1, formed by a 

convex lens, is moved by a distance 

x. The object is then moved until a 

new image of magnification m2 is 

formed on screen. The focal length 

of lens is :  

(1) 
12 mm

x

−
  

(2) 
x

mm 12 −
 

(3) 
21 mm

x

−
  

(4) 
x

mm 21 −
  

  
54. ,d inkZ] ftl ij mÙky ysal ls cuk] m1 

vko/kZu dk ,d izfrfcEc gS] dks x nwjh 
f[kldk fn;k x;kA vc oLrq dks bruk 
f[kldk;k x;k fd ,d u;k izfrfcEc 
ftldk vko/kZu m2 gS] insZ ij cu x;kA 
ysal dh Qksdl nwjh gksxh % 

 

 

(1) 
12 mm

x

−
  

(2) 
x

mm 12 −
 

(3) 
21 mm

x

−
  

(4) 
x

mm 21 −
  

55. The number of integral solutions 

(x, y) of the system of equations     

x2 – xy + 8 = 0 and x2 – 8x + y = 0 is : 

(1) 1  

(2) 2 

(3) 3  

(4) 0 

  
55. lehdj.k fudk; x2 – xy + 8 = 0 vkSj    

x2 – 8x + y = 0 ds iw.kk±dh; gyksa (x, y) 

dh la[;k gS %  

(1) 1  

(2) 2 

(3) 3  

(4) 0 
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56. Match the following famous place 

with their respective states. 

 I  II 

A Pampa  (i) Tamil Nadu 

 Sagar lake 

B Dibang  (ii) Arunachal  

 Multipurpose   Pradesh 

 Project  

C Umnanda  (iii) Karnataka 

 Island 

D Anicut Canal (iv) Guwahati 

(1) A (ii), B (i), C (iii), D (iv)  

(2) A (iii), B (ii), C (iv), D (i) 

(3) A (iii), B (iv), C (i), D (ii) 

(4) A (iv), B (ii), C (i), D (iii) 

  
56. fuEufyf[kr izfl) LFkkuksa dk feyku jkT;ksa 

ds lkFk dhft,A 

 I  II 

A iaik lkxj (i) rfeyukMq 

 >hy 

B fncax cgqmn~ns’kh; (ii) v#.kkpy izns’k 

 ;kstuk 

C meuank }hi  (iii) dukZVd 

D ,suhdV ugj  (iv) xqokgkVh 

 

 

(1) A (ii), B (i), C (iii), D (iv)  

(2) A (iii), B (ii), C (iv), D (i) 

(3) A (iii), B (iv), C (i), D (ii) 

(4) A (iv), B (ii), C (i), D (iii) 

57. Which of the following type of 

teeths are called as tearing teeth ? 

(1) Incissors   

(2) Canines  

(3) Premolars   

(4) Molars 

  
57. fuEufyf[kr esa fdl izdkj ds nk¡rksa dks 

phjus okys nk¡r dgk tkrk gS \ 

(1) bUlhtlZ  

(2)  dSukbUl 

(3) izheksylZ  

(4)  eksylZ ¼nk<+½ 
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58. A body is dropped from rest. Its 

velocity varies with displacement 

covered as : 

 

  
58. fojke ls fxjk;h x;h ,d oLrq dk] osx & 

foLFkkiu xzkQ gksxk % 

 

 

59. In ∆ABC, BE and CD are the 

perpendiculars on sides AC and 

AB, respectively and intersect 

each other at O. The bisectors of 

∠OBC and ∠OCB meet at P. If 

∠BPC = 146°, then what is the 

measure of ∠A ?  

(1) 34° (2) 68° 

(3) 73° (4) 36.5° 

  
59. ∆ABC esa] Hkqtkvksa AC rFkk AB ij 

BE vkSj CD Øe’k% yac gSa] vkSj ;s ,d 
nwljs dks fcanq O ij izfrPNsn djrs gSaA 
∠OBC vkSj ∠OCB ds lef}Hkktd P 
ij feyrs gSaA ;fn ∠BPC = 146° gS] rks 
A dk eki D;k gS \  
 

(1) 34° (2) 68° 

(3) 73° (4) 36.5° 

60. A normal bar magnet is 6 cm long. 

It’s north pole will be away from 

its mid point at a distance of : 

(1) 6 cm 

(2) 3 cm 

(3) Slightly more than 3 cm 

(4) Slightly less than 3 cm 

  
60. ,d lkekU; NM+ pqEcd dh yEckbZ 6 cm 

gSA blds mÙkjh /kzqo dh] blds e/; fcanq ls 
nwjh gksxh %  

(1) 6 cm  

(2) 3 cm 

(3) 3 cm ls FkksM+k vf/kd  

(4)  3 cm ls FkksM+k de 

(1) 

(3) 

(2) 

(4) 

(1) 

(3) 

(2) 

(4) 
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61. Choose the correct statement : 

(1) Lok Sabha and Rajya Sabha 

 have equal power in financial 

 bill.  

(2) Lok Sabha and Rajya Sabha 

have equal power on ordinay 

bill 

(3) Lok Sabha and Rajya Sabha 

have equal power on 

constitutional amendment bill. 

(4) Rajya Sabha is house of 

general people. 

  
61. lghlghlghlgh dFku crkb;s % 

(1) foÙkh; fcy ij yksdlHkk o jkT;lHkk 

dks leku 'kfDr;k¡ gSaA  

 

(2)  dkuwu cukus ds lk/kkj.k fcy ij] 

yksdlHkk o jkT;lHkk dks leku 

'kfDr;k¡ gSaA 

(3) lafo/kku la'kks/ku fcy ij yksdlHkk o 

jkT;lHkk dks leku 'kfDr;k¡ gSaA  

 

(4) jkT;lHkk vke O;fDr;ksa dk lnu gSA 

62. A uniform magnetic field pointing 

top to bottom in a plane of paper. 

When an electron is allowed to 

move perpendicular to it, it get 

deflected outwards. The electron 

must be moving along  : 

 
 

(1) Left to Right  

(2) Right to Left 

(3) It is stationary   

(4) It can’t deflect outward 

  
62. ,d leku pqEcdh; {ks= dkxt dh lrg esa 

Åij ls uhps dh vksj fn"V gSA tc ,d 
bysDVªkWu dks blds yEcor pyk;k x;k] ;g 
ckgj dh vksj fo{ksfir gks x;kA bysDVªkWu 
dh xfr dh fn’kk gksxh %  
 

 

(1) ck;ha ls nk;ha vksj 

(2)  nk;ha ls ck;ha vksj 

(3) ;g fLFkj gS  

(4)  ;g ckgj dh vksj fo{ksfir ugha gks 
ldrk 
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63. Which has maximum number of 

atoms ? 

(1) 24 g of C (12)  

(2) 56 g of Fe (56) 

(3) 27 g of Al (27) 

(4) 108 g of Ag (108) 

  
63. fuEu esa ls fdlesa ijek.kqvksa dh vf/kdre 

la[;k gS \ 

(1) 24 g C (12) dk  

(2) 56 g Fe (56) dk 

(3) 27 g Al (27) dk 

(4) 108 g Ag (108) dk 

64. A pulse crop is grown in the time 

interval between two cereal crops 

to compensate for the : 

(1) Loss of phosphate  

(2) Loss of sulphur  

(3) Loss of potassium  

(4) Loss of nitrogen 

  
64. vukt okyh nks Qlyksa ds chp esa nkyksa 

okyh Qly cksbZ tkrh gS rkfd fuEu dh 

iwfrZ gks lds % 

(1) QkLQksjl dh deh 

(2)  lYQj dh deh 

(3) iksVSf’k;e dh deh  

(4)  ukbVªkstu dh deh 

65. Which Indian soil is formed due to 

weathering of basic igneous rock ? 

(1) Lignite soil   

(2) Alluvial soil 

(3) Desert soil  

(4) Black soil 

  
65. dkSu&lh Hkkjrh; feV~Vh dk fuekZ.k ewyHkwr 

vkXus; 'kSyksa ds vi{k; ds }kjk gqvk gS \ 

(1) fyXukbV feêh  

(2)  tyks<+ feêh 

(3) jsrhyh feêh  

(4)  dkyh feêh 
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66. Observe the map given below. 

Identify the correct marked points 

of a pipeline of conventional 

energy reason with a sequence : 

 

(1) (a)  Aonla  (b) Shahjahanpur  

(c) Auraiya (d) Jagdishpur 

(2) (a)  Jagdishpur  (b) Aonla  

(c) Shahjahanpur (d) Auraiya 

(3) (a)  Auraiya  (b) Shahjahanpur  

(c) Aonla (d) Jagdishpur 

(4) (a)  Shahjahanpur  (b) Aonla  

(c) Auraiya (d) Jagdishpur 

  
66. fn, x, ekufp= ij voyksdu djsaA n’kkZ, 

x, fcanqvksa dks Øec) fcanqvksa ls tksM+rs 

gq, ÅtkZ ds ijaijkxr òksr ds lgh fodYi 

tksfM+, % 

 

(1) (a) vk¡oyk  (b) 'kkgtgk¡iqj    

(c) vksjbZ;k   (d) txnh’kiqj 

(2) (a) txnh’kiqj  (b) vk¡oyk   

(c) 'kkgtgk¡iqj (d) vksjbZ;k 

(3) (a) vksjbZ;k  (b) 'kkgtgk¡iqj    

(c) vk¡oyk (d) txnh’kiqj 

(4) (a) 'kkgtgk¡iqj   (b) vk¡oyk  

(c) vksjbZ;k (d) txnh’kiqj 

67. When 12 51100 +− xx  is divided by 

x2 – 1, the remainder is r(x). The 

value of r(–2) + r(2) is : 

(1) 0 (2) 4 

(3) 6 (4) 8 

  
67. tc 12 51100 +− xx  dks x2 – 1, ls 

foHkkftr fd;k tkrk gS] rks 'ks"kQy r(x) 

vkrk gSA r(–2) + r(2) dk eku gS % 

(1) 0 (2) 4 

(3) 6 (4) 8 

  M 
  A 
Index Place of 
Conventional 
energy 
resource 
pipeline (HVJ 
naturals gas 
pipeline) 

INDIA 
OUTLINE MAP (POLITICAL) 

 

  M 
  A 
Index Place of 
Conventional 
energy 
resource 
pipeline (HVJ 
naturals gas 
pipeline) 

INDIA 
OUTLINE MAP (POLITICAL) 
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68. A conical paper cup with height 

16 cm and base radius 6 cm is filled 

to the top with water. If 19/27 of the 

water is removed, then water level 

in the cup will drop by (in cm) : 

 

(1) 
3

1
5   

(2) 
3

2
4  

(3) 
3

1
4   

(4) 
3

2
5  

  
68. dkxt ls cuk ,d 'kaDokdkj di ftldh 

Å¡pkbZ 16 cm vkSj vk/kkj dh f=T;k 

6 cm gS] iw.kZ:i ls ikuh ls Hkjk gqvk gSA 

;fn blesa ls ikuh dk 19/27 Hkkx fudky 

fy;k tk,] rks di esa ikuh dk ysoy fdrus 

cm fxj tk,xk \ 

(1) 
3

1
5   

(2) 
3

2
4  

(3) 
3

1
4   

(4) 
3

2
5  

69. Each exterior angle of a regular 

polygon is less than 40° and the 

sum of its interior angles is less 

than 1980°, If N is the number of 

sides of the polygon, then the 

number of possible values of  N is : 

(1) 7  

(2) 5 

(3) 3  

(4) 2 

  
69. fdlh lecgqHkqt dk cfg"dks.k 40° ls de 

gS vkSj blds var% dks.kksa dk ;ksx 1980° 

ls de gSA ;fn cgqHkqt dh Hkqtkvksa dh 

la[;k N gS] rks N ds laHkkfor ekuksa dh 

la[;k gS %  

  

(1) 7  

(2) 5 

(3) 3  

(4) 2 
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70. Match the following states with 

respect to their highest literacy 

rate :  

 State Literacy Rate % 

A Kerala (i) 91.85 

B Lakshwadeep (ii) 91.33  

C Mizoram (iii) 94.00 

D Tripura   (iv) 87.75 

(1) A (ii), B (iii), C (i), D (iv) 

(2) A (iii), B (iv), C (i), D (ii) 

(3) A (iii), B (i), C (ii), D (iv) 

(4) A (iv), B (iii), C (ii), D (i) 

  
70. mPpre lk{kjrk nj ds laca/k esa vkjksgh 

Øe ds vk/kkj ij mÙkj nsa % 

 jkT;jkT;jkT;jkT;    lk{kjrk njlk{kjrk njlk{kjrk njlk{kjrk nj    %  

A dsjy  (i) 91.85 

B y{k}hi (ii) 91.33  

C fetksje (iii) 94.00 

D f=iqjk (iv) 87.75  

 

(1) A (ii), B (iii), C (i), D (iv) 

(2) A (iii), B (iv), C (i), D (ii) 

(3) A (iii), B (i), C (ii), D (iv) 

(4) A (iv), B (iii), C (ii), D (i) 

71. D and E are the points on sides BC 

and AC, respectively of ∆ABC. AD 

and BE intersect each other at T. 

If AT/TD = 5 and BT/ET = 7, then 

CD : BD =  

(1) 1 : 7  

(2) 5 : 7 

(3) 5 : 17  

(4) 3 : 17 

  
71. ∆ABC dh Hkqtkvksa BC rFkk AC ij 

Øe’k% fcanq D vkSj E gSaA AD vkSj BE 

,d nwljs dks T ij izfrPNsn djrs gSaA ;fn 

AT/TD = 5 vkSj BT/ET = 7 gS] rks 

CD : BD =  

(1) 1 : 7  

(2) 5 : 7 

(3) 5 : 17  

(4) 3 : 17 
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72. The coordinates of vertices A     

and B of a triangle ABC are (0, 0) 

and (36, 15), respectively. If the 

coordinates of C are integers, then 

what is the minimum area (in sq. 

units) that ∆ABC can have ? 

(1) 1   

(2) 
2

3
 

(3) 2   

(4) 
2

5
 

  72. f=Hkqt ABC ds 'kh"kZ A vkSj B ds 

funsZ’kkad Øe’k% (0, 0) vkSj (36, 15) gSaA 

;fn C ds funsZ’kkad iw.kkZadksa esa gSa] rks 

∆ABC dk U;wure {ks=Qy ¼oxZ bdkbZ esa½ 

D;k gks ldrk gS \  

 

(1) 1   

(2) 
2

3
 

(3) 2   

(4) 
2

5  

73. The seasonal or periodic movement 

of pastoral farmer with their 

livestock over relatively short 

distances seeking fresh pastures 

between two areas of different 

climatic conditions is called as : 

(1) Lay farming   

(2) Crop rotation  

(3) Transhumance   

(4) Ground farming 

  73. vyx & vyx tyok;q ifjfLFkfr;ksa ds nks 

{ks=ksa ds chp rktk pjkxkgksa dh rqyuk esa 

nsgkr ¼xk¡o½ dk fdlku vius i’kq/ku ds 

lkFk ekSleh ;k vkof/kd LFkkukarj.k djrs 

gSa] mls dgk tkrk gS % 

(1) pjkxkg d`f"k 

(2)  QlypØ ;k QlyorZu  

(3) laØe.k 

(4)  Hkwd`f"k 

Downloaded from cclchapter.in



A  ( 36 ) 

NTSE-Class-10th(SAT)–2019   

74. On which basis, the sectors can be 

classified into Public and Private 

sector ? 

(1) Ownership of enterprises 

(2) The nature of economic activity 

(3) Number of workers employed 

in the enterprise 

(4) Employment conditions 

  
74. m|ekas dks fdl vk/kkj ij lkoZtfud ;k 

futh {ks=d esa foHkkftr fd;k tkrk gS \ 

 

(1) m|ekas ds LokfeRo   

(2)  vkfFkZd xfrfof/k ds LoHkko  

(3) m|e esa fu;ksftr Jfedksa dh la[;k  

(4) jkstxkj dh 'krs± 

75. The nature of a solution obtained 

by dissolving soluble metal oxide 

in water is : 

(1) Acidic  

(2) Neutral  

(3) Basic  

(4) Amphoteric 

  
75. ?kqyu’khy /kkrq vkWDlkbM dks ty esa ?kksyus 

ls izkIr foy;u dh izd`fr D;k gksxh \ 

 

(1) vEyh;  

(2)  mnklhu 

(3) {kkjh;  

(4)  mHk;/kehZ 

76. Which of the following does not 

have poison apparatus ? 

(1) Scorpion   

(2) Centipede  

(3) Spider   

(4) Crab 

  

76. fuEufyf[kr eas fdlesa fo"k midj.k ughaughaughaugha 

gksrk \ 

(1) fcPNw  

(2)  lsaVhihM 

(3) edM+h  

(4)  dsdM+k 
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77. A cork is immersed in a jar of 

water & released.  How the cork 

will move if the jar is assumed to 

be kept in a satellite orbiting 

earth : 

(1) Sink 

(2) Rise 

(3) Remain where left  

(4) Depends upon the satellite 

velocity 

  
77. ,d dkWdZ dks ikuh ls Hkjs tkj esa Mqcks dj 

NksM+ fn;k x;kA ;fn tkj dks i`Foh dk 

ifjHkze.k djrs gq, mixzg esa j[kk gqvk 

ekuk tk,] rks dkWdZ dh xfr gksxh % 

 

(1) ;g Mwc tk,xk  

(2)  ;g Åij mBsxk 

(3) tgk¡ NksM+k x;k] ogha jgsxk  

(4) ;g mixzg dh pky ij fuHkZj gS 

78. A person of weight W jumps to 

ground with his legs fixed & comes 

to rest with an upward acceleration 

of 3 g. (g = acceleration due to 

gravity). The force exerted by him 

during landing is : 

(1) W  

(2) 2 W 

(3) 3 W  

(4) 4 W 

  
78. W Hkkj dk ,d O;fDr] vius iSjksa dks 

LFkk;h j[krs gq, ;fn i`Foh ij dwns vkSj 

‘3 g’ ds mijeq[kh Roj.k ds lkFk fojke esa 

vk;s ¼g = xq#Ùoh; Roj.k½] rks dwnrs le; 

ml ij vkjksfir cy gksxk % 

 

(1) W  

(2) 2 W 

(3) 3 W  

(4) 4 W 
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79. Tracheal respiration is found in : 

(1) Birds  

(2) Reptiles  

(3) Mammals   

(4) Insects 

  
79. Vªsfd;y 'olu ik;k tkrk gS % 

(1) if{k;ksa esa  

(2)  ljhl`iksa esa 

(3) Lru/kkfj;ksa esa  

(4)  dhVksa esa 

80. Choose the wrong statements in 

the following : 

(1) India has unity in diversity.  

(2) India has Parliamentary 

democracy. 

(3) India is Republic.   

(4) India is not member of 

commonwealth countries. 

  
80. fuEu esa ls xyrxyrxyrxyr dFku pqfu, % 

 

(1) Hkkjr esa fofHkUurk esa ,drk gSA 

(2)  Hkkjr esa lalnh; iztkrU= gSA  

 

(3) Hkkjr x.krU= gSA  

(4)  Hkkjr jk"VªeaMy ns’kksa dk lnL; ugha 

gSA 

81. ABCD is a cyclic quadrilateral in 

which AB = 14.4 cm, BC = 12.8 cm 

and CD = 9.6 cm. If AC bisects BD, 

then what is the length of AD ? 

 

(1) 16.4 cm (2) 13.6 cm 

(3) 15.8 cm (4) 19.2 cm 

  

81. ABCD ,d pØh; prqHkqZt gS] ftlesa 

AB = 14.4 cm, BC = 12.8 cm vkSj  

CD = 9.6 cm gSaA ;fn AC, BD dks 

lef}Hkkftr djrk gS] rks AD dh yackbZ 

D;k gS \ 

(1) 16.4 cm (2) 13.6 cm 

(3) 15.8 cm (4) 19.2 cm 
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82. Mark the correct reason for the 

following statement - Karnataka 

has developed as an in state for 

the growth of silk industry :  

(1) Availability of good  market, 

skilled labour and political 

reasons. 

(2) Availability of good market,  

good climate and political 

reasons. 

(3) Good climate, availability of 

soft water and mulberry 

plants. 

(4) Availability of soft water, good 

climate and nearness to port. 

  
82. dukZVd js’ke m|ksx dk egRoiw.kZ mRiknd 

{ks= gSA fuEufyf[kr esa ls lghlghlghlgh dkj.k 

pqfu, %  

 

(1) vPNk cktkj] dq’ky etnwj o 

jktuSfrd dkj.k A  

 

(2)  vPNk cktkj] vPNh tyok;q o 

jktuSfrd dkj.k A 

 

(3) vPNh tyok;q rktk ikuh o 'kgrwr ds 

isM+ksa ds dkj.kA   

 

(4)  rktk ikuh] vPNh tyok;q o canjxkg 

ds utnhd gksus ds dkj.kA 

83. Which British banned sati in  

India ? 

(1) William Bentinck  

(2) Lord Cornwallis 

(3) Lord Dalhousie   

(4) Lansdown 

  
83. fdl vaxzst us Hkkjr esa lrhizFkk dks lekIr 

fd;k \ 

(1) fofy;e cSafVad  

(2)  ykWMZ dkWuZokfyl 

(3) ykWMZ MygkSth  

(4) ySalMkmu 
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84. Which statement out of following 

is true ? Isobars have : 

(1) Same protons  

(2) Same electrons 

(3) Same neutrons  

(4) Same nucleons 

  
84. fuEu esa ls dkSu lk dFku lR;lR;lR;lR; gS \ 

vkblksckj ¼leHkkfjd½ esa gS % 

(1) leku izksVkWu 

(2)  leku bysDVªkWu 

(3) leku U;wVªkWu 

(4)  leku U;wfDy;kWu 

85. The %age of irrigated land in 

India is about ___ as per 2017 

datas. 

(1) 45% (2) 65% 

(3) 25% (4) 35% 

  
85. Hkkjr esa fdrus izfr’kr Hkwfe 2017 ds 

vk¡dM+ksa ds vuqlkj flafpr gS \ 

 

(1) 45% (2) 65% 

(3) 25% (4) 35% 

86. The equations 0642 =++ rxx  and 

,082 =+− rxx  where r > 0, have 

real roots. Then r satisfies the 

equation : 

(1) 08152 =+− rr  

(2) 030142 =−− rr  

(3) 048132 =−− rr  

(4) 056122 =−− rr   

  
86. lehdj.kksa 0642 =++ rxx  vkSj 

082 =+− rxx , tgk¡ r > 0 gS] ds ewy 

okLrfod gSaA rc r fuEu lehdj.k dks 

larq"V djrk gS % 

(1) 08152 =+− rr  

(2) 030142 =−− rr  

(3) 048132 =−− rr  

(4) 056122 =−− rr  
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87. Which of the following statements 

is incorrect about honey bees ? 

(1) Queen bee is the largest in   

size. 

(2) Worker bees outnumber the 

 others. 

(3) Drone keep the hive clean. 

(4) Bees have no sense of   

direction. 

  
87. e/kqefD[k;ksa ds ckjs esa fuEufyf[kr esa ls 

dkSu lk dFku vlR;vlR;vlR;vlR; gS \ 

(1) jkuh e/kqeD[kh dk vkdkj lcls cM+k 

gksrk gSA 

(2)  Jfed e/kqefD[k;ksa dh la[;k lcls 

vf/kd gksrh gSA 

(3) Mªksu NRrs dks lkQ j[krh gSaA 

(4)  e/kqefD[k;ksa esa fn’kk dh dksbZ le> 

ugha gksrhA 

88. If ,0183 24 =+− xx  then a value 

of 33 −− xx  is : 

(1) 758 (2) 756 

(3) 739 (4) 737 

  
88. ;fn 0183 24 =+− xx  gS] rks 33 −− xx  

dk ,d eku gS % 

(1) 758 (2) 756 

(3) 739 (4) 737 

89. A dice is constructed so that when 

it is thrown each even number is 

twice as likely to come up as each 

of the odd number.  What is the 

probability  of getting 6, when it is 

thrown once ? 

(1) 
6

1
 (2) 

9

1
 

(3) 
9

2
 (4) 

3

1
 

  
89. ,d iklk bl izdkj ls fufeZr gS fd tc 

bls Qsadk tk, rks blij izR;sd le la[;k 

vkus dh laHkkouk izR;sd fo"ke la[;k ds 

vkus dh rqyuk esa nqxuh gSA ;fn ikls dks 

,d ckj Qsadk tk,] rks blij 6 vkus dh 

izkf;drk D;k gS \ 

(1) 
6

1
 (2) 

9

1
 

(3) 
9

2
 (4) 

3

1  
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90. A metal sphere is dipped in water. 

If at 0°C & 4°C the buoyancies in 

water are β1 & β2 respectively, 

then : 

(1) β1 > β2 

(2) β2 > β1 

(3) β1 = β2  

(4) It depends upon radius of sphere 

  
90. ,d /kkfRod xksys dks ty esa Mqcks;k x;kA 

;fn 0°C ,oa 4°C ij ty esa mRIykodrk 
Øe’k% β1 ,oa β2 gks] rks % 
 

(1) β1 > β2  

(2) β2 > β1 

(3) β1 = β2  

(4)  ;g xksys dh f=T;k ij fuHkZj gS 

91. In the figure, PT = TS, PQ ⊥  QR 

and PQ || SR. If PQ = 9 cm,       

QR = 8 cm and SR = 7 cm, then 

what is the area (in cm2) of quad 

(PTVQ) ? 

 

(1) 22  

(2) 24 

(3) 25  

(4) 26 

  
91. vkd`fr esa PT = TS, PQ ⊥ QR vkSj 

PQ || SR gSaA ;fn PQ = 9 cm,               

QR = 8 cm vkSj SR = 7 cm gSa] rks 

prqHkqZt PTVQ dk {ks=Qy ¼cm2 esa½ D;k 

gS \ 

 

(1) 22  

(2) 24 

(3) 25  

(4) 26 
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92. The force between a hollow sphere 

‘S’ and a point mass ‘P’ inside it, as 

shown in figure is : 

 

(1) Attractive & Constt. 

(2) Repulsive & Constt. 

(3) Attractive & depends upon the 

location of P w.r.t centre 

(4) Zero 

  
92. fp= esa fn[kk, vuqlkj ,d [kks[kys xksys ‘S’ 

vkSj mlh ds vUnj ,d fcUnq nzO;eku ‘P’ 

ds e/; yxus okyk cy gS % 

 

(1) vkd"kZ.k ,oa fu;r 

(2) izfrd"kZ.k ,oa fu;r 

(3) vkd"kZ.k ,oa dsanz ds lkis{k P dh 

fLFkfr ij fuHkZj  

(4) 'kwU; 

93. 'Ratoon Cropping' is gaining 

popularity among which of the 

following crop cultivators ? 

(1) Sugarcane   

(2) Millet  

(3) Rice  

(4) Wheat 

  
93. fuEufyf[kr esa ls ^jkrwu Qly* ;k ^<waB 

Qly* tks yksxksa@fdlkuksa esa cgqr yksdfiz; 

gS] fdl Qly dks dgrs gSa \ 

(1) xUuk  

(2)  cktjk 

(3) pkoy  

(4)  xsgw¡ 
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94. If Samir withdraws Rs. 25,000 from 

his bank account by submitting a 

self cheque in bank for making 

payments and he also gave a 

account Payee cheque of Rs. 52,000 

issued by his employer in his 

favour. Now what happens to the 

Balance in his account. 

(1) Samir’s bank balance will  

 increase by Rs. 77,000. 

(2) Samir’s bank balance will  

 decrease by Rs. 77,000. 

(3) Samir’s bank balance will  

 increase by Rs. 27,000.  

(4) Samir’s bank balance will  

 decrease by Rs. 27,000. 

  
94. lehj Hkqxrku ds fy, vius [kkrs esa ls 

lsYQ psd }kjk #0 25,000 udn 

fudyokrk gS rFkk og ,d vkSj 

#0 52,000 dk vdkamV is;h psd cSad esa 

tek djrk gS tks fd mlds fu;ksDrk us mls 

osru ds :i esa fn;k FkkA vc mlds [kkrs 

esa cdk;k jkf’k dk D;k gksxk \ 

 

(1) lehj ds cSad esa cdk;k jkf’k 

#- 77,000 c<+ tkrh gSA 

(2) lehj ds cSad esa cdk;k jkf’k 

#- 77,000 ?kV tkrh gSA 

(3) lehj ds cSad esa cdk;k jkf’k 

#- 27,000 c<+ tkrh gSA 

(4) lehj ds cSad esa cdk;k jkf’k 

#- 27,000 ?kV tkrh gSA 

95. The vapour density of an organic 

compound is 30. This organic 

compound can be : 

(1) Ethanol   

(2) Ethanal  

(3) Ethanoic acid  

(4) Methyl ethanoate 

  
95. ,d dkcZfud jklk;u dk ok"i ?kuRo 30 

gSA ;g dkcZfud jklk;u gks ldrk gS % 

 

(1) bFksukWy 

(2)  bFksuy 

(3) ,Fksuksbd vEy 

(4) feFkkby ,Fksuks,V 
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96. Which kind of a disease is arthritis ? 

(1) Acute disease   

(2) Chronic disease  

(3) Infectious disease  

(4) Communicable disease 

  
96. vkFkZjkbfVl fdl izdkj dh chekjh gS \ 

(1) ,D;wV chekjh  

(2)  ØkWfud chekjh 

(3) bUQsfD’k;l chekjh  

(4)  lapj.kh; chekjh 

97. Muscles involved in the movement 

of the arm are : 

(1) Striated  

(2) Non striated 

(3) Cardiac   

(4) Smooth 

  
97. gkFk ds ewoesaV esa tks ekalisf’k;k¡ iz;qDr gksrh 

gSa] og gSa % 

(1) jsf[kr   

(2)  vjsf[kr 

(3) ân; dh  

(4)  LewFk 

98. Who among the following coined 

the phrase ‘Jet Stream’?  

(1) H. Seilkoph   

(2) Wiley Post 

(3) Herodotus   

(4) Sir Gilbert Walker 

  
98. fuEufyf[kr esa ls fdlus ^tsV LVªhe* 

okD;ka’k x<+k \ 

(1) ,p0 lhydksQ 

(2)  foyhiksLV 

(3) gsjksMksVl 

(4)  lj fxYcVZ okdj 
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99. Anything we get from the physical 

environment to fulfill our needs is 

called : 

(1) Resource  

(2) Agriculture  

(3) Domestication  

(4) Horticulture 

  
99. viuh vko’;drkvksa dks iwjh djus ds fy, 

HkkSfrd okrkoj.k ls tks dqN Hkh ge izkIr 

djrs gSa] mls dgk tkrk gS % 

(1) fjlkslZ  

(2)  ,xzhdYpj 

(3) MksesLVhds’ku  

(4)  gkWVhZdYpj 

100. Which atom has the smallest size ? 

 

(1) B (2) N 

(3) Al (4) P 

  
100. fdl ijek.kq dk vkdkj ¼lkbt½ lcls 

NksVk gS \ 

(1) B (2) N 

(3) Al (4) P 
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jQ dk;Z ds fy,    / FOR ROUGH WORK 
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